- WHEREAS, the Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof; and
- WHEREAS, the Rosebud Sioux Tribe is governed by the Tribal Council made up of elected Representatives who act in accordance with the powers granted to it by its Constitution and By Laws; and
- WHEREAS, the Rosebud Sioux Tribe is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws article IV Sections 1 (k), and (m), and
- WHEREAS, the Rosebud Sioux Tribe is authorized by Constitution and By-laws Article IV, Section 1 (g), to appropriate for public purposes of the Rosebud Sioux Tribe available Tribal Council funds; and
- whereas, the Rosebud Sioux Tribal Council has enacted RST Resolution No. 2020-75, to acknowledge and affirm the Rosebud Sioux Tribe President's declaration of a State of Emergency exists within the Rosebud Sioux Tribe as it relates to the threat to the health and public safety of the Rosebud Sioux Reservation from the spread of novel Coronavirus (COVID-19), a global pandemic declared by the World Health Organization ("WHO") on March 11, 2020; and
- WHEREAS, the Rosebud Sioux Tribe Law Enforcement has submitted to the Rosebud Sioux Tribe Cares Office a proposal title "BRITE" in the amount of \$901,390.00; and
- WHEREAS, this "BRITE" is to provide reliable, progressive, innovative, and affordable telecommunications, body cameras, Panasonic Tough books, Video Car Cameras, mounting systems for vehicles, Sierra Wireless solutions, to enhance the value of life for the Rosebud Sioux Tribe Law Enforcement on the Rosebud Reservation; and
- WHEREAS, the RST Cares Act Panning Team with emergency legislation recommendation to the Rosebud Sioux Tribal Council to approve "BRITE" in the amount of \$901,390.00 with a deadline date of December 31, 2020 to be fully operational; and
- **NOW, THEREFORE BE IT RESOLVED,** that the Rosebud Sioux Tribal Council approves the Rosebud Sioux Tribe Law Enforcement "BRITE" in the amount of \$901,390.00;

BE IT ALSO RESOLVED, that the President of the Rosebud Sioux Tribe or his designee is authorized and directed to execute any documents necessary for this purchase.

CERTIFICATION

This is to certify that the above Resolution No. 2020-293 was duly amended by the Rosebud Sioux Tribal Council in session on December 15, 2020, by a vote of thirteen (13) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Wayne Boyd, Secretary Rosebud Sioux Tribe

Rodney M. Bordeaux, President Rosebud Sioux Tribe

- WHEREAS, the Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof; and
- WHEREAS, the Rosebud Sioux Tribe is governed by the Tribal Council made up of elected Representatives who act in accordance with the powers granted to it by its Constitution and By Laws; and
- WHEREAS, the Rosebud Sioux Tribe is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws article IV Sections 1 (k), and (m), and
- WHEREAS, the Rosebud Sioux Tribe is authorized by Constitution and By-laws Article IV, Section 1 (g), to appropriate for public purposes of the Rosebud Sioux Tribe available Tribal Council funds; and
- WHEREAS, the Rosebud Sioux Tribal Council has enacted RST Resolution No. 2020-75, to acknowledge and affirm the Rosebud Sioux Tribe President's declaration of a State of Emergency exists within the Rosebud Sioux Tribe as it relates to the threat to the health and public safety of the Rosebud Sioux Reservation from the spread of novel Coronavirus (COVID-19), a global pandemic declared by the World Health Organization ("WHO") on March 11, 2020; and
- WHEREAS, the Rosebud Sioux Tribe Law Enforcement has submitted to the Rosebud Sioux Tribe Cares Office a proposal title "BRITE" in the amount of \$901,390.00; and
- WHEREAS, this "BRITE" is to provide reliable, progressive, innovative, and affordable telecommunications, body cameras, Panasonic Tough books, Video Car Cameras, mounting systems for vehicles, Sierra Wireless solutions, to enhance the value of life for the Rosebud Sioux Tribe Law Enforcement on the Rosebud Reservation; and
- WHEREAS, the RST Cares Act Panning Team with emergency legislation recommendation to the Rosebud Sioux Tribal Council to approve "BRITE" in the amount of \$901,390.00 with a deadline date of December 31, 2020 to be fully operational; and
- **NOW, THEREFORE BE IT RESOLVED,** that the Rosebud Sioux Tribal Council approves the Rosebud Sioux Tribe Law Enforcement "BRITE" in the amount of \$901,390.00;

BE IT ALSO RESOLVED, that the President of the Rosebud Sioux Tribe or his designee is authorized and directed to execute any documents necessary for this purchase.

CERTIFICATION

This is to certify that the above Resolution No. 2020-293 was duly amended by the Rosebud Sioux Tribal Council in session on December 15, 2020, by a vote of thirteen (13) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Wayne Boyd, Secretary Rosebud Sioux Tribe

Rodney M. Bordeaux, President Rosebud Sioux Tribe



United States Department of the Interior

BUREAU OF INDIAN AFFAIRS Rosebud Agency Post Office Box 228 Mission, South Dakota 57555

IN REPLY REFER TO:
Office of the Superintendent

FEB 2 6 2021

Honorable Rodney Bordeaux President, Rosebud Sioux Tribe Post Office Box 430 Rosebud, South Dakota 57570

Attention: Louis Wayne Boyd, Rosebud Sioux Tribe Secretary

Dear President Bordeaux:

Our office is in receipt of the following Rosebud Sioux Tribal Resolutions:

2020-214 (Amended: 11/19/2020), 2020-250, 2020-285, 2020-286, 2020-287, 2020-288, 2020-290,

2020-293 (Amended: 12/05/2020) and 2020-294.

All Tribal Resolutions have been reviewed by this office.

The Self-Determination Program has been provided with the following resolutions for further review and/or file retention: 2020-250, 2020-287, 2020-293 and 2020-294.

Real Estate Services has been provided with the following resolutions for further review and/or file retention: 2020-285 and 2020-286,

Sincerely,

Francine Fast Horse
Superintendent

cc: Self-Determination Real Estate Services

ROSEBUD SIOUX TRIBE Resolution No. 2020-294

- WHEREAS, The Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof: and
- WHEREAS, The Rosebud Sioux Tribe is governed by a Tribal Council made up of elected representatives who act in accordance with the powers granted to it by its Constitution and By-laws; and
- WHEREAS, The Rosebud Sioux Tribal Council is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws Article IV Sections i (k), and (m), and
- WHEREAS, The Rosebud Sioux Tribal Council is authorized to negotiate with the Federal, State, and local governments on behalf of the Tribe, in accordance with the Rosebud Sioux Tribe Constitution and By-laws Article IV Section 1 (a); and
- WHEREAS, Rosebud Sioux Tribe Law Enforcement Services has recommended the Rosebud Sioux Tribal Council authorize and adopt the use of Electronic Control Devices Rules and Procedures, to authorized the use and training in the use of Electronic Control Devices to gain control over individuals; and

THEREFORE BE IT RESOLVED, that the Rosebud Sioux Tribal Council adopts the recommendation of the RST Law Enforcement Services and approves the Rules and Procedures for the use of Electronic Control Devices, or Tasers;

BE IT FINALLY RESOVLED, that the Rosebud Sioux Tribal Council authorizes and directs the President of the Rosebud Sioux Tribe or his authorized delegate to sign and execute the appropriate documents for modify the Rosebud Sioux Tribe Law Enforcement Services, Public Law 93-638 Contract, to include the Rules and Procedures for the use of Electronic Control Devices or Tasers.

CERTIFICATION

This is to certify that the above Resolution No. 2020-294 was duly passed by the Rosebud Sioux Tribal Council in session on December 9, 2020, by a vote of eleven (11) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Wayne Boyd, Secretary Rosebud Sioux Tribe

Rosebud Sioux Tribe

Rodney M. Bordeaux, President

ROSEBUD SIOUX TRIBE Resolution No. 2020-294

- WHEREAS, The Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof: and
- WHEREAS, The Rosebud Sioux Tribe is governed by a Tribal Council made up of elected representatives who act in accordance with the powers granted to it by its Constitution and By-laws; and
- WHEREAS, The Rosebud Sioux Tribal Council is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws Article IV Sections i (k), and (m), and
- WHEREAS, The Rosebud Sioux Tribal Council is authorized to negotiate with the Federal, State, and local governments on behalf of the Tribe, in accordance with the Rosebud Sioux Tribe Constitution and By-laws Article IV Section 1 (a); and
- WHEREAS, Rosebud Sioux Tribe Law Enforcement Services has recommended the Rosebud Sioux Tribal Council authorize and adopt the use of Electronic Control Devices Rules and Procedures, to authorized the use and training in the use of Electronic Control Devices to gain control over individuals; and

THEREFORE BE IT RESOLVED, that the Rosebud Sioux Tribal Council adopts the recommendation of the RST Law Enforcement Services and approves the Rules and Procedures for the use of Electronic Control Devices, or Tasers;

BE IT FINALLY RESOVLED, that the Rosebud Sioux Tribal Council authorizes and directs the President of the Rosebud Sioux Tribe or his authorized delegate to sign and execute the appropriate documents for modify the Rosebud Sioux Tribe Law Enforcement Services, Public Law 93-638 Contract, to include the Rules and Procedures for the use of Electronic Control Devices or Tasers.

CERTIFICATION

This is to certify that the above Resolution No. 2020-294 was duly passed by the Rosebud Sioux Tribal Council in session on December 9, 2020, by a vote of eleven (11) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Wayne Boyd, Secretary

Rodney M. Bordeaux, President

Rosebud Sioux Tribe



United States Department of the Interior

BUREAU OF INDIAN AFFAIRS Rosebud Agency Post Office Box 228 Mission, South Dakota 57555

IN REPLY REFER TO: Office of the Superintendent

FEB 2 6 2021

Honorable Rodney Bordeaux President, Rosebud Sioux Tribe Post Office Box 430 Rosebud, South Dakota 57570

Attention: Louis Wayne Boyd, Rosebud Sioux Tribe Secretary

Dear President Bordeaux:

Our office is in receipt of the following Rosebud Sioux Tribal Resolutions:

2020-214 (Amended: 11/19/2020), 2020-250, 2020-285, 2020-286, 2020-287, 2020-288, 2020-290,

2020-293 (Amended: 12/05/2020) and 2020-294.

All Tribal Resolutions have been reviewed by this office.

The Self-Determination Program has been provided with the following resolutions for further review and/or file retention: 2020-250, 2020-287, 2020-293 and 2020-294.

Real Estate Services has been provided with the following resolutions for further review and/or file retention: 2020-285 and 2020-286,

Sincerely,

Francine Fast Horse
Superintendent

cc: Self-Determination Real Estate Services

- WHEREAS, the Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof; and
- WHEREAS, the Rosebud Sioux Tribe is governed by the Tribal Council made up of elected Representatives who act in accordance with the powers granted to it by its Constitution and By Laws; and
- WHEREAS, the Rosebud Sioux Tribe is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws article IV Sections 1 (k), and (m), and
- WHEREAS, the Rosebud Sioux Tribe is authorized by Constitution and By-laws Article IV, Section 1 (g), to appropriate for public purposes of the Rosebud Sioux Tribe available Tribal Council funds; and
- WHEREAS, the Rosebud Sioux Tribal Council has enacted RST Resolution No. 2020-75, to acknowledge and affirm the Rosebud Sioux Tribe President's declaration of a State of Emergency exists within the Rosebud Sioux Tribe as it relates to the threat to the health and public safety of the Rosebud Sioux Reservation from the spread of novel Coronavirus (COVID-19), a global pandemic declared by the World Health Organization ("WHO") on March 11, 2020; and
- WHEREAS, the Rosebud Sioux Tribe Law Enforcement has submitted to the Rosebud Sioux Tribe Cares Office a proposal title "BRITE" in the amount of \$901,390.00; and
- WHEREAS, this "BRITE" is to provide reliable, progressive, innovative, and affordable telecommunications, body cameras, Panasonic Tough books, Video Car Cameras, mounting systems for vehicles, Sierra Wireless solutions, to enhance the value of life for the Rosebud Sioux Tribe Law Enforcement on the Rosebud Reservation; and
- WHEREAS, the RST Cares Act Panning Team with emergency legislation recommendation to the Rosebud Sioux Tribal Council to approve "BRITE" in the amount of \$901,390.00 with a deadline date of December 31, 2020 to be fully operational; and
- **NOW, THEREFORE BE IT RESOLVED,** that the Rosebud Sioux Tribal Council approves the Rosebud Sioux Tribe Law Enforcement "BRITE" in the amount of \$901,390.00;

BE IT ALSO RESOLVED, that the President of the Rosebud Sioux Tribe or his designee is authorized and directed to execute any documents necessary for this purchase.

CERTIFICATION

This is to certify that the above Resolution No. 2020-293 was duly amended by the Rosebud Sioux Tribal Council in session on December 15, 2020, by a vote of thirteen (13) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Wayne Boyd, Segretary Rosebud Sioux Tribe

Rodney M. Bordeaux, President Rosebud Sioux Tribe

CERTIFICATION

This is to certify that the above Resolution No. 2020-293 was duly amended by the Rosebud Sioux Tribal Council in session on December 15, 2020, by a vote of thirteen (13) in favor, zero (0) opposed and three (3) not voting. The said resolution was adopted pursuant to authority vested in the Council. A quorum was present.

ATTEST:

Rosebud Sioux Tribe

Rodney M. Bordeaux, President

Rosebud Sioux Tribe

- WHEREAS, the Rosebud Sioux Tribe is a federally recognized Indian Tribe organized pursuant to the Indian Reorganization Act of 1934 and all pertinent amendments thereof; and
- WHEREAS, the Rosebud Sioux Tribe is governed by the Tribal Council made up of elected Representatives who act in accordance with the powers granted to it by its Constitution and By Laws; and
- WHEREAS, the Rosebud Sioux Tribe is authorized to promulgate and enforce ordinances for the maintenance of law and order, and to safeguard the peace and morals, and general welfare of the Tribe, pursuant to the Rosebud Sioux Tribe Constitution and By-Laws article IV Sections 1 (k), and (m), and
- WHEREAS, the Rosebud Sioux Tribe is authorized by Constitution and By-laws Article IV, Section 1 (g), to appropriate for public purposes of the Rosebud Sioux Tribe available Tribal Council funds; and
- whereas, the Rosebud Sioux Tribal Council has enacted RST Resolution No. 2020-75, to acknowledge and affirm the Rosebud Sioux Tribe President's declaration of a State of Emergency exists within the Rosebud Sioux Tribe as it relates to the threat to the health and public safety of the Rosebud Sioux Reservation from the spread of novel Coronavirus (COVID-19), a global pandemic declared by the World Health Organization ("WHO") on March 11, 2020; and
- WHEREAS, the Rosebud Sioux Tribe Law Enforcement has submitted to the Rosebud Sioux Tribe Cares Office a proposal title "BRITE" in the amount of \$901,390.00; and
- WHEREAS, this "BRITE" is to provide reliable, progressive, innovative, and affordable telecommunications, body cameras, Panasonic Tough books, Video Car Cameras, mounting systems for vehicles, Sierra Wireless solutions, to enhance the value of life for the Rosebud Sioux Tribe Law Enforcement on the Rosebud Reservation; and
- WHEREAS, the RST Cares Act Panning Team with emergency legislation recommendation to the Rosebud Sioux Tribal Council to approve "BRITE" in the amount of \$901,390.00 with a deadline date of December 31, 2020 to be fully operational; and

NOW, THEREFORE BE IT RESOLVED, that the Rosebud Sioux Tribal Council approves the Rosebud Sioux Tribe Law Enforcement "BRITE" in the amount of \$901,390.00;

BE IT ALSO RESOLVED, that the President of the Rosebud Sioux Tribe or his designee is authorized and directed to execute any documents necessary for this purchase.

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com Quote
No. #Q87103
Date 12/14/2020

Bill To: Rosebud Sioux Tribe - SD 101 E. Frontage Road Rosebud SD 57570

Ship To: Rosebud Sioux Tribe - SD 101 E. Frontage Road Rosebud SD 57570

Quot	Expiration Date	Contract Number	Sales Rep	Chin	oing Via
	12/31/2020	Thank you for choosing Brite!	Brian K Denomme	Simpl	nng via
Qty	Item Number		The second secon	Unit Price	Extended
	** Body Worn	Cameras **	· · · · · · · · · · · · · · · · · · ·		
50	GET-OVWX2M	XXXXX1		\$303.93	\$15,196.50
	Getac Body Wo year hardware	orn Camera (BC-02), 64GB + FHD/HD/ warranty (compatible with magnetic	WVGA + WiFi + GPS + BLE, 1 charge cable ORB39X)		¥13,130.30
50	GET-GE-SVBWE			\$60.00	\$3,000.00
	Getac Body Wo	rn Camera (BC-02) - BC-02 Extended	Warranty - Year 2		
50	GET-OVWX2M>		50° 20 • MERENDEPPER 1000	\$303.93	\$15,196.50
	Body Worn Can upfront, 1 year	nera (BC-02), 25th month device refre hardware warranty	esh option program, full		
50	GET-GE-SVBWE	XT2Y		\$133.00	\$6,650.00
	GETAC VIDEO Se Warranty - Year	OLUTIONS INC. : Body Worn Camera s 2 & 3	(BC-02) - BC-02 Extended		6
50	GET-ORB31X			\$19.32	\$966.00
	Getac Body Wor	n Camera Chest Clip			
50	GET-ORB41X			\$56.64	\$2,832.00
	Getac Body Wor	n Camera dual side magnetic mount			
50	GET-ORB34X			\$19.32	\$966.00
	GETAC VIDEO SC	DLUTIONS INC: Body Worn Camera M	Iolle mount		**************************************
50	GET-ORB39X			\$37.44	\$1,872.00
	Getac Body Worl	n Camera (BC-02), magnetic quick rel	ease charging USB cable		or denoted • Are those posts are a
50	GET-ORB24U		<u> </u>	\$70.14	\$3,507.00
	GETAC : BWC BC-	-02 charging dock (VD-02), USB AC ad	lapter(US), USB cable		
35	GET-OTX11X			\$151.45	\$5,300.75
	GETAC : Signal tr	igger box (TB01)			
1	GET-OD2DAU			\$1,247.04	\$1,247.04
	Getac Body Worn includes 90W AC	n Camera (BC-02) - 8 Port Multidock w	rith Datamover (MD-02D),		

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com Quote
No. #Q87103
Date 12/14/2020

Qty	Item Number	Unit Price	Extended
5	GET-OWC011	\$193.00	\$965.00
	Getac Enterprise-Video License and Annual Maintenance (Per Client Device) 1st year		
50	GET-OUA041	\$516.00	\$25,800.00
	Getac Cloud - Yearly Plan 4 (Cloud Unlimited, SW maintenance)		
50	GET-OUA042	\$516.00	\$25,800.00
	Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 2nd year	Ī	00
50	GET-OUA043	\$516.00	\$25,800.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 3rd year		
50	GET-OUA044	\$516.00	\$25,800.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 4th year		
50	GET-OUA045	\$516.00	\$25,800.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 5th year		
35	GET-ORB24X	\$43.20	\$1,512.00
	GETAC : Veretos BWC BC-02 Vehicle/office charging dock (VD-02)		
2	GET-OZX04X	\$1,400.00	\$2,800.00
	Getac Remote Cloud Set-up/Configuration (not on-site support)		
	** B360 Laptop **		
40	GET-BM41S6BAB8GX	\$3,898.00	\$155,920.00
	B360 - Intel Core i7-10510U Processor, With Webcam, Microsoft Windows 10 Pro x64 with 32GB RAM, 512GB PCIe SSD, Sunlight Readable Full HD LCD 1400 nits + Touchscreen + Hard tip stylus, US KBD + US Power cord, Membrane Backlit KBD, Wifi + BT + 4G LTE (EM7511) w/ integrated GPS/Glonass + Passthrough, RS232 + VGA, Smart Card Reader, SD Card Reader, RJ45, HDMI, 3 Year B2B Warranty		* 100/220.00
40	GET-GE-SVBFNFX5Y	\$637.70	\$25,508.00
	Bumper to Bumper + Extended Warranty- Laptop (Year 4 & 5) - Getac, B360 Fully rugged, Bumper-to-Bumper+Extended Warranty, 5, Years		07 101 6 123 4888000000000
40	GAM-7170-0789-03	\$1,191.00	\$47,640.00
	Getac B360 Laptop Docking Station with Getac 120W Auto Power Adapter (Tri RF)		6
	Comment		
	In Car Video		



7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com Quote
No. #Q87103
Date 12/14/2020

Qty	Item Number		
25		Unit Price	Extended
35	GET-OAAACAXEAXX1	\$4,468.50	\$156,397.50
	Getac VR-X20 i3 Blackbox + Cameras + Display DVR (VR-X20-i3)-Integrated 4GB RAM+256GB SSD + 2nd 256GB SSD Battery Backup + WIFI + GPS + Crash Sensor, Wiring kit, DVR mounting bracket, A/V input cable, ZeroDark Full HD IP Camera, Rear Analog Camera - 1 year hardware warranty		
35	GET-GE-SVDNEXT4Y	\$829.00	\$29,015.00
	Getac DVR + Cameras + Display Extended Warranty - Years 2, 3, 4 & 5		1,270,3100
35	GET-OIA01X	\$47.04	\$1,646.40
	GETAC : Veretos display installation kit, Bracket, UNIVERSAL BRACKET		3,3,3,3,1,1
	** Vehicle specific brackets at time of order unless interior light bars **		
35	GET-591GVS000015	\$225.60	\$7,896.00
	Getac Vehicle Antenna - Airgain MultiMax 3-in-1, WiFi, GPS, Blot Mount - Black - 19FT		11,7020.00
35	GET-OUA041	\$516.00	\$18,060.00
	Getac Cloud - Yearly Plan 4 (Cloud Unlimited, SW maintenance)		
35	GET-OUA042	\$516.00	\$18,060.00
	Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 2nd year		32 (0.00 a \$100 000 000 000 000 000 000 000 000 00
35	GET-OUA043	\$516.00	\$18,060.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 3rd year		
35	GET-OUA044	\$516.00	\$18,060.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 4th year		
35	GET-OUA045	\$516.00	\$18,060.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 5th year		
	** Mobile Printers **		
35	BRO-PJ722	\$298.00	\$10,430.00
	PocketJet 7 200dpi Thermal Printer with USB (Only includes the printer. Requires power, USB cable, and printing supplies)		
35	BRO-LB3692	\$21.75	\$761.25
	Car Adapter - Wired - 14 Foot Length for Ruggetjet4 - PocketJet 3 (PLUS) and PocketJet 6 (PLUS)		
35	BRO-LB3603	\$13.72	\$480.20

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com

### SECOND CONTRICT OF THE PROPERTY OF THE PRO	Qty	Item Number	Unit Price	Extended
### STATHER PJ3/PLUS STANDARD PERFORATED ROLL - 6 ROLLS PER PK (100 PGS PER PACK) ### STATHER PJ3/PLUS STANDARD PERFORATED ROLL - 6 ROLLS PER PK (100 PGS PER PACK) ### Imaging Scanner ** ### Imaging Scanner ** ### Imaging Scanner ** ### Imaging Scanner ** ### SPR-MOB-IMG L-TRON 4910LR LICENSE READER KIT - TRACS COMPATIBLE NYSOGS ### VEHICLE INVENTORY ** ### 12 - 2019 Dodge Durangos ### 12 - 2019 Dodge Durangos ### 12 - 2019 Ford Explorer SUVS ### 3 - 2020 Ford Expeditions ### 6 - 2019 Chevy Tahoes ### Small Flange 8" Vertical Surface Mount Requires Pole Assembly ### LUN-VMP-8B ### Small Flange 8" Vertical Surface Mount Requires Pole Assembly ### LUN-UPR-C9 ### Center Upper - offers closer mounting to the dash with no offset for 9" pole ### LUN-TS-60EX ### Extended 60 degree Tilt/Swivel Adapter - For Arm Tels ### Sierra Wireless Options ** ### Sierra Wireless Options ** ### Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable ### AP-MMF-CCWWWG-Q-5222222-RP345-BL ### Airgain MultiMax MIMO Antenna - Threaded Bolt - Black ### 15' Cables - 2 LTE (SMA MM - 3 WIFI (PB SMA B.) 1 GNSS (CMA M) ** The Park For For Arm Tell S' Cables - 2 LTE (SMA MM - 3 WIFI (PB SMA B.) 1 GNSS (CMA M) ** The Park For For Arm Tell S' Cables - 2 LTE (SMA MM - 3 WIFI (PB SMA B.) 1 GNSS (CMA M) ** The Park For For Arm Tell S' Cables - 2 LTE (SMA MM - 3 WIFI (PB SMA B.) 1 GNSS (CMA M) ** The Park For For Arm Tell S' Cables - 2 LTE (SMA MM - 3 WIFI (PB SMA B.) 1 GNSS (CMA M) ** The Park For	STATE OF THE PARTY	Brother 10FT USB Cable	Jane	Extended
BROTHER PJ3/PLUS STANDARD PERFORATED ROLL - 6 ROLLS PER PK (100 PGS PER PACK) 35	35	BRO-LB3663	\$58.66	\$2,053,10
## Imaging Scanner ** ## \$25.40 \$890.40 ## Standard Imaging Scanner ** ## Imaging Scanne		BROTHER PJ3/PLUS STANDARD PERFORATED ROLL - 6 ROLLS PER PK (100 PGS PE PACK)		42,033.10
## Imaging Scanner ** 35 BR-MOB-IMG	35	HAV-C-PM-109	\$121.67	\$4,258,45
### Sierra Wireless Options ** BR-MOB-IMG L-TRON 4910LR LICENSE READER KIT - TRACS COMPATIBLE NYSOGS ### VEHICLE INVENTORY ** 12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford Explorer SUVs 4 - 2019 Ford Explorer 5 - 2019 Ford Exp		Brother PocketJet 6 Printer Mount		1800.00€ 200000000000000000000000000000000
L-TRON 4910LR LICENSE READER KIT - TRACS COMPATIBLE NYSOGS ACC-MMSU-1 \$25.44 \$890.40 Magnetic Mic Clip ** VEHICLE INVENTORY ** 12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35 LUN-VMP-8B \$43.67 \$1,528.45 Small Flange 8" Vertical Surface Mount Requires Pole Assembly 35 LUN-UPR-C9 \$72.50 \$2,537.50 Center Upper - offers closer mounting to the dash with no offset for 9" pole 35 LUN-TS-60EX \$58.98 \$2,064.30 Extended 60 degree Tilt/Swivel Adapter - For Arm Tels 35 LUN-LEDAP-4 \$26.45 \$925.75 Lund Adapter Plate *** Sierra Wireless Options ** 40 SIE-1104073 \$791.12 \$31,644.80 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-R9345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (PR SMA R) - 1 CRISS CMA M) + bit markly for the second of the second		** Imaging Scanner **		
L-TRON 4910LR LICENSE READER KIT - TRACS COMPATIBLE NYSOGS ACC-MMSU-1 Magnetic Mic Clip ** VEHICLE INVENTORY ** 12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35	35	BR-MOB-IMG	\$324.00	\$11 340 00
## ACC-MMSU-1 Magnetic Mic Clip ** VEHICLE INVENTORY ** 12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford Explorer SUVs 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 43.67 \$1,528.45		L-TRON 4910LR LICENSE READER KIT - TRACS COMPATIBLE NYSOGS		411,510.00
Magnetic Mic Clip ** VEHICLE INVENTORY ** 12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford Explorer SUVs 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35 LUN-VMP-8B \$43.67 \$1,528.45 Small Flange 8" Vertical Surface Mount Requires Pole Assembly 35 LUN-UPR-C9 \$72.50 \$2,537.50 Center Upper - offers closer mounting to the dash with no offset for 9" pole 35 LUN-TS-60EX \$58.98 \$2,064.30 Extended 60 degree Tilt/Swivel Adapter - For Arm Tels 35 LUN-LEDAP-4 \$26.45 \$925.75 Lund Adapter Plate *** Sierra Wireless Options ** 40 SIE-1104073 \$791.12 \$31,644.80 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA R) - 1 CRISC (SMA N) + bit mark in feet	35		\$25.44	\$890.40
12 - 2019 Dodge Durangos 15 - 2019 Ford Explorer SUVs 3 - 2020 Ford F-150 P/Us 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35		Magnetic Mic Clip		+550,10
15 - 2019 Ford Explorer SUVs 3 - 2020 Ford F-150 P/Us 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35		** VEHICLE INVENTORY **		
3 - 2020 Ford F-150 P/Us 3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35		12 - 2019 Dodge Durangos		
3 - 2020 Ford Expeditions 6 - 2019 Chevy Tahoes 35				
6 - 2019 Chevy Tahoes LUN-VMP-8B Small Flange 8" Vertical Surface Mount Requires Pole Assembly LUN-UPR-C9 Center Upper - offers closer mounting to the dash with no offset for 9" pole LUN-TS-60EX Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 Lund Adapter Plate *** Sierra Wireless Options ** Sierra Wireless Options ** 40 SIE-1104073 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (PP SMA F) - 1 GNSS (SMA M) + bin modified.				
Small Flange 8" Vertical Surface Mount Requires Pole Assembly LUN-UPR-C9 \$72.50 \$2,537.50 Center Upper - offers closer mounting to the dash with no offset for 9" pole LUN-TS-60EX \$58.98 \$2,064.30 Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 \$26.45 \$925.75 Lund Adapter Plate **** Sierra Wireless Options ** Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable AP-MMF-CCWWWG-Q-S2222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + bis part file for				
Small Flange 8" Vertical Surface Mount Requires Pole Assembly LUN-UPR-C9 Center Upper - offers closer mounting to the dash with no offset for 9" pole LUN-TS-60EX Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 Lund Adapter Plate *** Sierra Wireless Options ** Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) - thin page 14 for 15 for 1	25			
SECUN-UPR-C9 Center Upper - offers closer mounting to the dash with no offset for 9" pole LUN-TS-60EX Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 Lund Adapter Plate *** Sierra Wireless Options ** Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA E) - 1 GNSS (SMA M) + bis page 616 for	35		\$43.67	\$1,528.45
Center Upper - offers closer mounting to the dash with no offset for 9" pole LUN-TS-60EX Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 Lund Adapter Plate *** Sierra Wireless Options ** Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA E) - 1 GNSS (SMA M) - thin page 51 for small state of the formal state of the				
\$58.98 \$2,064.30 Extended 60 degree Tilt/Swivel Adapter - For Arm Tels \$58.98 \$2,064.30 Extended 60 degree Tilt/Swivel Adapter - For Arm Tels \$58.98 \$2,064.30 \$58.98 \$2,064.30 \$58.98 \$2,064.30 \$59.25.75 Lund Adapter Plate **** Sierra Wireless Options *** \$58.98 \$2,064.30 \$925.75 Lund Adapter Plate **** Sierra Wireless Options *** \$58.98 \$2,064.30 \$925.75 Lund Adapter Plate **** Sierra Wireless Options *** \$791.12 \$31,644.80 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable \$40 AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + thin page 614 for the same file for the sam	35		\$72.50	\$2,537.50
Extended 60 degree Tilt/Swivel Adapter - For Arm Tels LUN-LEDAP-4 \$26.45 \$925.75 Lund Adapter Plate *** Sierra Wireless Options ** Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + thin pure file for				
LUN-LEDAP-4 Lund Adapter Plate *** Sierra Wireless Options ** 40 SIE-1104073 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) thin profile for	35		\$58.98	\$2,064.30
Lund Adapter Plate *** Sierra Wireless Options ** 40		Extended 60 degree Tilt/Swivel Adapter - For Arm Tels		
*** Sierra Wireless Options ** SIE-1104073 \$791.12 \$31,644.80 Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + bin profile for	35		\$26.45	\$925.75
40		Lund Adapter Plate		
Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + bin profile for		*** Sierra Wireless Options **		
Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable 40 AP-MMF-CCWWWG-Q-S222222-RP345-BL \$246.51 \$9,860.40 Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) + thin profile for	40	SIE-1104073	\$791.12	\$31,644.80
Airgain MultiMax MIMO Antenna - Threaded Bolt - Black 15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) - thin profile for		Sierra Wireless AirLink MP70 + WiFi - LTE-A Pro - NA - DC Cable		•
Airgain MultiMax MIMO Antenna - Threaded Bolt - Black	40	AP-MMF-CCWWWG-Q-S222222-RP345-BL	\$246.51	\$9,860.40
15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) - thin profile for 2020 FPI-U. (Compatible with Sierra 1104073)		Airgain MultiMax MIMO Antenna - Threaded Bolt - Black		100
		15' Cables - 2 LTE (SMA M) - 3 WiFi (RP SMA F) - 1 GNSS (SMA M) - thin profile for 2020 FPI-U. (Compatible with Sierra 1104073)		

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com Quote
No. #Q87103
Date 12/14/2020

Qty	Item Number	Unit Price	Extended
40	CAB-25FT-GRY	\$20.70	\$828.00
	C2G 25FT CAT5E MOLDED SHIELDED (STP) NETWORK PATCH CABLE	+20170	4020.00
40	GET-9010324	\$190.00	\$7,600.00
	Sierra Wireless AirLink Complete - New ALEOS Device - Years 2,3,4,5		47,000.00
	** INTERVIEW ROOM PACKAGE (Hardware Only) **		
1	GET-OAAXXXXXXXXX1	\$3,577.00	\$3,577.00
	VR-X20 i3 Only with Blackbox Recording DVR (VR-X20-i3)-Integrated 4GB RAM + 256GB SSD + 2nd 256GB SSD + Battery Backup + WIFI + GPS + Crash Sensor, DVR mounting bracket, A/V input cable, 1 year hardware warranty	A CONTROL OF THE CONT	43,377.00
1	GET-GE-SVDNEXT4Y	\$829.00	\$829.00
	Getac DVR + Cameras + Display Extended Warranty - Years 2, 3, 4 & 5		
1	GET-OAX02U	\$130.00	\$130.00
	GETAC : DVR (VR-X10) - 150W AC Adapter Kit (US)		
2	GET-591GVS000027	\$572.00	\$1,144.00
	Interview Room		
	Axis M1124		
2	GET-MM-G01-100	\$77.00	\$154.00
	Microphone		
1	GET-RFID-Reader	\$105.00	\$105.00
	PCPROX Plus 82 Series Black Surface Mount USB		
1	GET-73581	\$4.00	\$4.00
	LED RED Non-Flashing PreWired Indicator Light (1min)		
1	GET-OUA041	\$516.00	\$516.00
	Getac Cloud - Yearly Plan 4 (Cloud Unlimited, SW maintenance)		
1	GET-OUA042	\$516.00	\$516.00
	Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 2nd year		
1	GET-OUA043	\$516.00	\$516.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 3rd year		+370.00
1	GET-OUA044	\$516.00	\$516.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 4th year		Section Television

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com Quote
No. #Q87103
Date 12/14/2020

Qty	Item Number	Unit Price	Extended
1	GET-OUA045	\$516.00	\$516.00
	GETAC VIDEO SOLUTIONS INC. : Getac Managed Service & Cloud - Plan 4 (Cloud Unlimited, SW maintenance) 5th year		\$310.00
	Interview Install - Customer to provide electric and network drops, Brite will mount cameras and DVR		
	** Services **		
35	Installation Services	\$938.00	\$32,830.00
	Installation Services for ICV	125,00	ΨJZ,03U.UU
35	Installation Services	\$498.00	\$17,430.00
	Installation Services for Modem & Antenna		717,750.00
35	Installation Services	\$578.00	\$20,230.00
	Installation Services for Laptop Mount & Dock		+=0/250.00
1	Pro - Services	\$13,850.00	\$13,850.00
	Pro services - GVS Deployment setup, configuration and training.		
1	Pro - Services	\$6,200.00	\$6,200.00
	Pro services - 2nd Training Session		, 5/200.00
50	Pro - Services	\$40.00	\$2,000.00
	Pro services - Sierra Services (Remote Configuration, customer to provide SIM cards)		, =, = 0.00
4	GET-GE-SVSYHDS1L	\$1,950.00	\$7,800.00
	Disk Image Consulting Service		,000,00
	Customer Imaging Server and Scope Call Required		
	NOTE: Part numbers may change at time of order.		
	** STATEMENT OF WORK AND MSA REQUIRED **		
SALES OF THE OWNER, WHITE THE PARTY OF THE P			



Sales Information: Brian Denomme Public Safety Account Executive 585-869-6055 bdenomme@brite.com

SubTotal: Discount: Tax Total: Total: \$901,399.29 (\$9.29) \$0.00 \$901,390.00

7647 Main Street Fishers Victor, NY 14564 Toll Free: 1-800-333-0498 FAX: 585-758-0222 salesinfo@brite.com



Terms and Conditions

- Agreed upon payment terms: NET 30
- Any changes to the orders after acceptance may result in additional fees.
- Any returns must be accompanied by a return authorization and will be subject to restocking fees.
- All services will be invoiced upfront and efforts debited against the units described above.
- All hardware and accessories will be invoiced when shipped.
- All software will be invoiced upon delivery of license.
- All subscriptions will be invoiced when activated.
- Terms and conditions listed within a Master Services Agreement or Statement of Work supersede any listed here.
- Travel costs will be billed separately unless otherwise stated.
- All support is considered manufacturers depot warranty support unless otherwise stated.

Customer Signature

The signature below certifies that I am authorized to purchase the goods and services listed within this quote, have reviewed it for accuracy and the terms and conditions are acceptable.

Hattie Horse Looking

P.O. Box 1132 Mission, South Dakota 57555
Cell Phone: 605-319-1733 E-mail: lakotahattie@gmail.com

Work History

2019 April-current

Case Manager

Maternal and Child Health Program

Case manage Prenatal clients and Post Partum clients and their children ages newborn—2 years of age, provide education in health and infant and toddler care. Home visiting and transportation

2017- Current

Cultural Resource Specialist/Monitor

RST Historic Preservation Office

Properly identify and document culturally specific items in natural environments, use of GIS equipment, compasses, arduous work required to complete land surveys, good written and spoken communication skills, knowledge of tribal/spiritual practices and other cultural items and artifacts. Knowledge of section 106 Federal law and requirements and other policies and practices. Work closely with Archeologist and project managers.

2016-2017

Counselor

RST Methamphetamine Rehab. Program

Provide one on one counseling with assigned clients, intake process with clients into facility, group sessions on various issues and topics, cultural teachings, assessments and daily reporting and documentation of client progress notes, daily staffing and transportation of clients from appointments and physical fitness center. Scheduling of client activities and various activities.

2015-2016

Program Specialist

RST Adult Corrections Services

direct supervision, care, and transport of inmates. Completed training at the Indian Police Academy. Program Specialist—Develop programs for incarcerated adult inmates, coordination of drug and alcohol evaluations and physical assessments for inmates seeking drug and alcohol treatment, screening of incoming and outgoing mail, assist officers with transports as needed. Coordination of volunteers to provide programing for incarcerated inmates within the facility, updating volunteer lists and activities, monthly reporting, library organization and distribution, coordination of cultural needs; sweat lodge, smudging, church, beading, arts and craft.

2014

Corrections Officer

RST Adult Corrections Services

2012

Administrator

White River Health Care Center

Administrator for the White River Health Care Center (nursing home), chartered under the State of South Dakota as a Corporation, owned by the Rosebud Sioux Tribe. Managed budgets, Procurement, Policies and Procedures, supervision of Departments within the Nursing Home; working relationship with Medical Director, Physicians, clinics, health board, RST council; overall function of the facility to ensure compliance with Federal and State standards and regulations.

2009-2012

Director

RST Diversion Program

RST Youth Affairs Program

Program Development, grant management, budgets, procurement, supervision of staff, direct services to youth and families to reduce recidivism, produced a report to council/ collaborative partners a direct cost to the RST for each child from arrest through release from courts/ facilitate suicide prevention, life skills, parenting, DUI, Re education curriculum to families and court ordered individuals, and provide prevention activities in all 20 communities.

2006-2009

Family Advocate

RST Education Department

Truancy Intervention Services

Advocate for Students & Families in education, facilitate meetings and interventions to ensure proper education settings for tribal youth, received referrals from 8 different schools as assigned by Director; report writing, referrals, documentation, facilitate parenting classes, suicide prevention curriculum, youth activities and collaboration with other agencies, and transport of children and or families.

Hattie Horse Looking

P.O. Box 1132 Mission SD 57555 Cell: 605-319-1733 lakotahattie@gmail.com

Education

August 24, 2012 Associate of Arts/Arts & Sciences

August 23, 2013 Bachelor of Art Arts & Sciences/ Liberal Arts/ Science

Concentration/ Minor : Art & Lakota Studies

Awards Received

2 Eagle Feathers from Sinte Gleska University/ Graduation

1 Eagle Plume from Wellness Court Parent group/leadership & guidance

1 Eagle Plume from Roy Stone Sr/leadership role for women

Volunteer Experience

2010-2012

Rosebud Sioux Tribe Suicide Task Force

2009-current

Rosebud Sioux Tribe Youth Programs

Licenses and Certificates

Certified Corrections Officer Indian Police Academy

Certified Cultural Specialist/Monitor

Certified Moral Reconation Therapy facilitator

Certified Anger management facilitator

Certified Domestic Abuse Re-Education facilitator

Certified DUI facilitator Certified Parent Trainer

Qualifications

2 years

Diversion Program Director

1 Year

Program Specialist Adult Corrections

6 months

Nursing Home Administrator

15 years

RST Ambulance Service /Supervisor level

References

Available upon request